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1. (a)
(b)
2. (a)
(b)
(c)

Evaluate
(i) 6+2x5
(ii) 56+ 0.2

Write 5.785 correct to one decimal place.

Write down the next term in the sequence:

13 _
Express 20 2sa percentage.

Express 0.64 as a fraction in its lowest term.

Answer: ................oeen [1]
Answer: ................ccoei (1]
Answer: ..................oe, [1]
Answer: ...............coeeie 1]
Answer: ....... — % [1]
Answer: .................oooeen [1]
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3. (a) Evaluate

®|w
+
(NN N

(b) Convert 6 hours into minutes.

(c) Convert 4% metres into centimetres.

Answer: ............ocoiviiiinninnns [1]
Answer: .............ccoeeee. minutes [1]
ANSWeEr: ....ooiiviniiiiieiinnens cm [1]
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4,

(a) Simplify

(i) m?x md,

(i) (y9?.

(b) Evaluate 4%+ 4*

Answer: ...............coocoiiennnn. [1]
Answer: ... (1]
Answer: ..................ooeeeene. [1]

'~ ©MOE&HR,TE&SR & MES 2017




5. (a) Giventhata= 5andb= -2, find the value of 2a - 4b .

(b) Factorise the following:

() 2x+4

Answer: ..............ocovivenenn 1
Answer: ...............coeieinn [1]
Answer: ..............ooeeviiennn [2]
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6. (a) GivenA-= (‘15 g)andB= (”; g),ﬁnd 3A- B.
ANSWer: ........ccooiiiiiiinns [2]
(b) Work out :
2 -1
(1 85)(5 ;)
ANSWer: ..........cooovveviiiiennnn, [2]
6
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7. (@ A= {spinertandB= {s,p,ade}

(i) List the elements of AUB.

Answer: {............ccoiiiii } ‘[1]

(i) Find n(ANB).
Answer: .................oceen PP [1]
(b) Solve the inequality:
3-4x< 1
ANsSwer: ... [3]

(c)  Giventhatx?+ y? = 24 and xy = 5, find the value of (x - y)2.

ANSWET: .. ..ociiiiiiic e, [2]
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8. (a)  Aregular polygon has interior angle equal to 120°.

(i) What is the size of an exterior angle of the regular polygon?

ANSWer: ............ccooeiiiiii, [1]

(i) Hence, or otherwise, find the number of sides of the regular polygon.

Answer: .............cocoeeinn, sides [1]
. — 6 .
(b) Given that vector LM = (—8)’ find:
(i) ™ML
ANsSwer: .........cccceeeiiiiii [1]
(ii) |[‘|\ﬁ|
Answer: ............c.o.eeene. units [2]
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9. (a) Hans sold his watch for Rs 240 and made a loss of 20%.
At what price did Hans buy the watch?

Answer:Rs ................c [3]
(b) Solve the simultaneous equations:
2x+ 3y=15
3x+4y=7
Answer: X = ..........coeiiiieinnnns
Y= s [4]
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10. (a) Evaluate f11%

Answer: ..........cc.oiieinnn, [2]

(b)  Using as much of the information given below as necessary, find the value

of v0.07.

[V7 = 2.646 , V70 = 8.367]

Answer: ... [3]

10
©MOE&HR, TE&SR & MES 2017



11. (a) Intriangle PQR, PQ=12cm and QR = 13 cm.
- 12 cm Q

Find the length of PR. N

13cm

Answer: ......................... cm [2]

(b)  Aladder of length 5 m is inclined against a wall of height 4 m.
Find the angle the ladder makes with the wall.

[cos*(Z) =36.9°; sin™* (g) =53.1°; tan™ (3) = 38.7°]

ladder

wall —————_
W 5m

4m

Answer: Angle=..................... [2]

11
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12.  The number of children per family living along a particular street is given in the

table below.
No. of 0 1 2 3 4
children
No. of 5 4 6 3 2
families

For the above distribution of the number of children, find the

(a) mode.

Answer: ..............cccoeeeeen (1]
(b) mean.

Answer: ..........c.coceviiieineenn, [3]
(c) median.

Answer: .............................. [3]

12
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13.

(a)

(b)

Given that 3p = 2m - 5q, express m in terms of p and q.

Answer m=.............coceennns [2]

Find the equation of the line passing through the point (- 2, 5) and parallel to the line
X+ 2y = 6.

ANSWer: .......ccoooiviiiiiieeene [3]

13
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14. (a) The diagram shows sector OAB of a circle with centre O and radius 28 cm.

~ 22
Given that AOB = 45° and taking T = —-, calculate the area of sector OAB.

7
A
3
o' <)
-
Answer: ........................... cm? [2]

(b)  Find the volume of a cylinder of radius 2.1 cm and height 10 cm.

‘ 2.1cm
2
[Take T = 37—] /__R

SR X

10 cm

ANsSwer: ............cc.ccceviinn, cm?® [2]

| 14
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15.

(a) Find the H.C.F. of 32 and 72.

Answer: ... [2]

(b) Two boats leave a jetty at 14 00. The first one returns to the jetty every 25 minutes
and the second one returns every 30 minutes.

At what time will the two boats next be at the jetty at the same time?

Answer: ............occoinnen, [4]

15
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16. (a) The bearing of B from A is 112°. Calculate the bearing of A from B.

North
A
112°
A
B
Answer: ........................... [3]
(b) Find the value of x.
ey
7
36°
xo
62°
N
/
Answer: x=...................... [3]

16
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17. (a) In a competition, the ratio of boys to girls is 3 : 2. If there are 12 more boys than girls,

find the total number of students.

ANsSwer: ............ccoevnnininnn, [3]

(b) 5 men take 30 days to paint a building.

How many days would you expect 12 men to take to paint the same building?

Answer: ................oeneen days [3]

' 17
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18. (a) Expand and simplify 3(2m - 5n) - 4(3m - 2n).

(b) Solve the equation x? - 4x - 21 = 0.

Answer: ...........ccccoeiiiieiin. [3]

Answer: x=............ OFX= i [3]

18
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19. A plane leaves London at 02 25 on a Wednesday and reaches Jakarta
16 hours 45 minutes later.

(@)  What is the time in London when the plane reaches Jakarta?

Answer: ................oell [2]

(b)  Jakarta is 6 hours ahead of London.
On which day and at what time does the plane land in Jakarta?

. 19
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. 1
20. (a) A cartravelling at 60 km/h takes 25 hours to travel a certain distance.

How many minutes less will the car take to cover the same distance if its
speed is now 75 km/h ?

Answer: ................coeeiinnn, [3]

(b) A bag contains 20 pens out of which x are red and the remaining are blue.
A pen is removed at random from the bag.

(i)  Write down, in terms of x, the probability of obtaining a red pen.

Answer; .............cccceeeeenn, [1]

1
(i) If the probability of obtaining a red pen is equal to 7 find the number of blue

pens in the bag.

Answer: ... [3]

' 20
©OMOE&HR,TE&SR & MES 2017




